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s .- ‘W/SECTION - ‘A’
W:1. %W WA 15 AferEaiy 39w § | T W 6 IO Aftman 16 | 20 weat & & R | uvht v st # | e
¥ 03 () =t w1 | 15x3=45
Que.:1, This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.

¥ : (1.1) T "R 1./M=03
De Monarchia
I3 LA -
H./M=03
¥ : (1.2) T
Mitathal
I WTHS

. H./M=03
3 1 (1.3) Fodfsh qegie
Rigvedic Panchvrishni
IW YTHTH
q./M=03
T : (1.4) Qe
Dauvarika
I ; ‘
q./M=03
¥ (1.5)  Afremfies
Abhidhamma Pitaka
PIGIED
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WUE - ‘37" /SECTION - ‘A’
uW:1. 3@ 59 7 15 siegeniy s9-uw § | 7@ 5 % 3w Afiman 15 @ 20 el # 30 8 | weft v e € | e
v 03 (dF) Iwt F 7 | 15x3=45

Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.

99 : (1.6) fram-uiE k7. /M=03
Kitab-E-Nauras
W . m
H./M=03
U 1 :(1.7) HEdE
Abvaab
I '

1 /M=03
U : (1.8) Ar=Edlg
Orientalism
I :
q./M=03

W : (1.9) gAufam fagE
Restorative Rebellions

9 : (1.10) &9 95 €g
Satish Chandra Basu
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WUE - ‘37" / SECTION - ‘A’
Wil WA A 15 ARegeid 39w # | 9% W #1 I At 16 | 20 vt # 3 R | welt v et # | R
W% 03 () 3t 1 & | 15x3=45
Que.:1. This question contains 15 very short answer type sub-questions. Answer each question in maximum 15 to
20 words. All questions are compulsory. Each question carries 03 (three) marks.

T : (1.11) 97 Agal P”Hs
Usha Mehta
I WIHTS
IM=03
I : (1.12) It 3<le /A
JP Movement
I : STH
v
T : (1.13) A9t i
Navdatoli
I : BILIES
. /M=03
T 1 (1.14) s
Bhoomija
I v L
H./M=03
T : (1.15) SERAT
Fefariya -
I :
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WUE - ‘37" /[SECTION - ‘A’
w:2 frefufes § @ Rt 10 v % 3w ftmaw 100 wedt (vdrs) ¥ forfla | selis w99 06 (8:) ST w1 R 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
YH :(2.1)  YuH fava g & s & wdiger Hif | priems

Examine the causes of the First World War.

I :
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TUE - ‘37" /SECTION - ‘A’

B

wva:2. Frafefes & 3 R 10 vt % @ afeean 100 =it (s) o v | v W 06 (B:) T TR | 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)

marks.

01 1 (2.2)

1789 Y wiEH shifa & sifgm wron it fFa= Fifse |
Discuss the intellectual causes of the 1789 French Revolution.

q./M=06
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WU - ‘3’ /SECTION - ‘A’
uw:2 Prafufe § 3 el 10 v $ s aftmean 100 v () # foflag | v v 06 (B:) IRI W R | 10x6=60

Que.:2. Write the answers of amy 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

T :(2.3) Ty ot wvar & aifife Sfew w5 aviw Fif | /=00
Describe the religious life of the Indus Valley Civilisation.
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WUE - ‘37" /SECTION - ‘A’

w:2. Frafafes 3 @ R 10 i % I sfteram 100 v=Et (weden) @ Tl | e e 06 (9:) SR T R 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

T : (2.4) et (Riehex) & srmsemur % afert T geie i | e o

Evaluate the effects of Alexander’s (Sikander’s) invasion.

3 :

-11-
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WS - ‘3’ /SECTION - ‘A’

ww: 2. Fafafea § @ R 10 vEi % 3w sftean 100 w8t (v3) o forfla | v w99 06 (&) i w1 R | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

U : (2.5) T Wi § A wuyer ¥ R w5 avlw i | M08

Il :

Describe the development of temple architecture in South India.
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UL - ‘37 [SECTION - ‘A’

we:2.  Frafofes § @ Rl 10 oAt % I aftan 100 w=El (weden)  forflw | vl W 06 (9:) S W R 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

T :(2.6) T Gea X 19 wHg b ToRR @) e SR e e 2 e iR | e

How did Razia Sultan influence the politics of her time ? Explain.

I :
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WUE - ‘3’ /SECTION - ‘A’
w2 Frefafes § & Rl 10 v F I aftman 100 v (v@) # faflag | vl w06 (3:) s w R 10%6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

q1./M=06

T 1 (2.7) el Td WIS % WU & €Y A FORITT H YeATHA HIT |

Evaluate Krishnadevaraya as a patron of art and literature.

I 54 L
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WUE - ‘37 /SECTION - ‘A’
wer:2.  Prafafee § & Rl 10 st F s sfteean 100 =51 (we) @ foflae | v W 06 (9:) SR ETR 10x6=60
Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.
T :(2.8)  WRdW i w1 Paio 3 gem 2 Rife | ple

How was the Indian Constitution framed ? Write.

I 13 L

15-
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WUE - ‘A’ /SECTION - ‘A’

ww:2  Fefafea § 3 e 10 vt F w0 aftemar 100 vt (=) # forflag | el o 06 (3:) ST w1 R | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

I 1 (2.9)  IHiEdl vt & URa # SO IeieH & WEY W YHI S | s

Throw light on the nature of the tribal movement in nineteenth century India.
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WUE - ‘37 /[SECTION - ‘A’

we:2. Profufea § 2 Redl 10 v F I srftean 100 vt (wekes) o ffl | v W 06 (B:) S wR 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

TE 1 (210)  TET RN ¥ ‘i Rer @ e Hif | e

Explain the ‘Drain of Wealth Theory’ of Dadabhai Naoroji.

I
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WS - ‘37 / SECTION - ‘A’

w2 Fafafes § @ el 10 vt $ s st 100 =St (v) # fifl | el w06 (:) ST wT R | 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

T (211) I % UTiE OF ienis aee i aw AR | e

| Discuss the religious and cultural significance of Ujjain.

I :
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TUg - ‘37 /SECTION - ‘A’

ae:2. Piefiea § 3 gl 10 weE % I st 100 veet (wedke) # Rifle | vl v 06 (B:) I WR 10x6=60

Que.:2. Write the answers of any 10 of the following questions in maximum 100 words each. Each question carries 06 (six)
marks.

/M=06

U (2.12) T W % W YHeH W TH ST | k
Throw light on food (gastro) tourism in Madhya Pradesh.

I :
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WUE - ‘37 /| SECTION - ‘A’
W :8. ¥ N § 03 I ¥, TS T HT I Afwan 300 W F 21 | At wew arfrard # | wele o ariafe e
ot R | i o sriafes fwey @1 aw 3 @ § sow we Pu I F wow afarda: w1 | @S 59 15 (I5E) I w
L 3x15=45
Que.:8. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

T 1 (3.1) AT X Siigie SR H Ryl e oK gu § Gephl W SR #  1 | s
9T 93T ?
How did Renaissance impact international trade and what was the further impact of | wmis
trade on culture in Europe ?

HAIET/OR

I YaY IR Tosar % ded § g0 TR ASHT T Ui HIT |

Describe the Harappan town planning in the context of water management and
sanitation.
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WUE - ‘3’ /SECTION - ‘A’
WeT:8. 36 5w o 03 39N §, YAH W H1 I Afuehan 300 vedt F 27 B | Wl s svframd € | wellw W § iaie faeed
o & | st R arialess frsrea 1 3w 2 @ & Iuw oz Ig@ I & wow Hiada: : | TS W1 15 (I5E) Al
R 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

¥¥7 : (3.1) continued (R})
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WUE - ‘37 / SECTION - ‘A’
We:3., ¥ W A 03 I §, TS T $1 I9 Alwaq 300 et F 3 | |l e srfrard § | wole v o anafe fee
ot R | s o ariaftes fawes &1 3w 3 @ ¥ Sow e PE I S wny sfada: # | Q% ¥ 15 (358) I B
1 4 3x15=45

Que.:3. There are 03 sub-questions in this question, each gquestion has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

X9 : (3.1) continued (TR})
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W@UE - ‘37’ /SECTION - ‘A’
w9 W 3 03 I9-9% §, W% W 1 IR Afwan 300 wedl F 1 ¥ | welt v arfamd ¥ | weds v & i faeed
ot & | el R ariafes Rehe 1 3K 2 @ § 301 WE W IR F quy ARada: ® | TS 761 15 (I5€) 3w

®1 3x15=45
There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of

the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

W :(3.2) HIE wTEE I & Iegicaqul yumEe i fafie Rt v aviw Hifg |
Describe the characteristic features of accountable administration of Ashoka, the
Mauryan King. :

HAYET/OR
i ) ffesr o ¥ arafe wdta seir-smaTita stdfegeedr =) & ifta foman 2

How did the British conquest of India disrupt the traditional Indian industry-based
economy ?

9./M=15
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WS - ‘37 /SECTION - ‘A’
W :3. T ¥ 03 -9 &, TS T B I Aftewan 300 we2i F 1 R | et v oAt € | vl e sriais R
Wt R | sl R stiahe e #1 3w 2 @ ¥ e we PE I F wuw whEdE: $ | QA% 99 15 (958) 6 W
?1 3x15=45

Que.:8. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

Y9 : (3.2) continued (TRT)

-24-
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WUE - ‘37" /SECTION - ‘A’
T¥:8. 9 N § 03 3959 &, YA W &1 I Afan 300 sl A 2 R | welt v st # | vs v F v oo
Wt & | anaeff R ariafes Rishe &1 I 2 W § 361 wiE IgE IR F aon AFada: w | T W 15 (I58) 3w
L 4 3x15=45

Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer, Each question carries 15 (fifteen) marks.

¥ : (3.2) continued (IR7)
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TUE - ‘37" /| SECTION - ‘A’
W :8.  F9 N ¥ 03 I-NH &, TAH T % I AuHaq 300 T § 31 } | weht v arfrard ¥ | v@w v § wiaks e
Wt & | et o st fwey &1 s} @ ¥ sow we gE oW & e sl w | v@% vE 15 (TE) I W
L 4 3x15=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All

questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

: q./M=15
Y :(3.3) T wEA (Seft waredt 3. - wraelt wared §.) ¥ Siavia weF WRA % Ui 3faEr
o g | :
Describe political history of Central India under the Gupta rule (4'h century CE — 7th | YW/®
century CE) ?

HuaT/OR
T Tieh WE & §9 °H FEAR w1 Aawris gee fife |

Write the historical importance of Burhanpur as a tourist place.

G
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WUE - ‘37" /SECTION - ‘A’
© Wem:8. @ WE # 03 I9-9 &, TA® W &1 I Afuwan 300 vt & 21 7 | weft e vt € | vl v F aniahs foeew
ot & | 3nreff Rra tiaftes e &1 3ot 2 @ € o wip 3g@ I & gum shada: w1 | 5% 39 15 (I58) 3!
? 3x15=45

Que.: 3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

%7 : (3.3) continued (TR7)
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WUE - ‘37’ [SECTION - ‘A’
WA :8. W A 03 -3 &, YA W H IW Afwan 300 v} A 21 ® | weht v avfrard € | w@% v F o Rreew
ot } | s o stiaftes fawey =1 3w 3 @ ¥ svw v e I F guw afiada: w1 | vQ@% 19 15 (95E) i =
R 3x16=45
Que.:3. There are 03 sub-questions in this question, each question has to be answered in maximum 300 words. All
questions are mandatory. There is also an internal option in each question. The mention of the internal option of
the candidate must be made explicitly before the answer. Each question carries 15 (fifteen) marks.

¥¥ : (3.3) continued (FRT)

-28-
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T & g T4
SPACE FOR ROUGH WORK




